0]

Ty =ax’+bx+c 9 1

oA
——

1%

(0, 4)

Stofzt.

q_

O
=

o, abe ] %k

£ A



o) xtgr sy = ax® + bx + ¢ 9 I EZ I A A
0,2),(Lb+5),(-1,4a-1) & AF W, a+ b+ c 9 &= T
Shofat,

5 L
=%



3. oA y=ax?+bx+c 9 Tt x ZIF H (=3, 0), (1, 0)
ofl A Rl Fgigto] 8 4w, a, b, ¢ & Fotoleth



o H%t=

bl &ix=

;Lo x O g



2 4 bxtct A x= -3 =03 57 HTigt 2
&5 b, ¢ S F b-c 9] e TotolEt



y:—%QﬂlﬂiﬂE%ﬂéﬂx:—3ﬂﬁﬂ%ﬁ5%&%

L2 A 0]y AUL Fofolet.



T a4y=10 9, 2 42 o HEGLES FEHEY

® 10 @ 24 @ 40 @ 45 ® 50



sholat,

q_

O
=

2 23 o, AA2ER el Hold] Azt



=
A

E99] Zol7} 24 cm Q) FAZC] Yo7t A of, o] BjEo] 59
dolE Fotolet,

g

1L

b:

cm



10.

e 3 2ol A 1 9lE wHol= AP
7F At x & 9ol i A0 E2 Q &
& o, APOQ ¢ Wol9] kS Fotoit
(T, A P Al 1 AR $lell Sitt)




